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Q1. Which among following statement is not true about the buffer stock

Q2.

scheme?

IR Wi Yol dlddid Teiicities BIod fau g 3me?

A. It is related to maintain the balance between its purchases and
sales food grains over a period / fafRy wramadidia sy famt

B. It is related to remove the price uncertainty / fhrd sifAfgadr Ay

C. It is related to create food security in the country / SR 3
JR& o HRuaRit G&fd o,

D. It is related to create the price uncertainty / ICERREIGIERIE]

Which statement is false relating to the guaranteed agricultural
prices or minimum support prices?

FUT gHT et fehar e smemesa hacdief iora fErame T og?

A. India has system of guaranteed prices / WIRATqed gHT aTH
FAET 3.

B. Government of India declares minimum support price (MSP) /

AL LRI TRATH e et STe I .
C. The minimum support price is announced before the sowing
season / IXOM=AT STHTIET FohATT ST ohdd ST ¥ et ST,

D. Food corporation of India (FCI) recommends Minimum support

prices for major agricultural corps / AL I AgHea ( FCI)



Q3. Which one among the following factors is responsible for India and
most of the Asian countries to accept agriculture sector as an
important sector of the economy?

GTAT Tehidenl HIAT qeah AT AT Jgde SA9ATs 9T e
EATAT ATATEAA HETd T & FgUH T THLIATHIST STATARIT g ?

A. Huge capital availability / 3 ATSa IcaTahd]

B. Geographical location / ST TITeTs T

C. Political conditions / Trstehta TifErdT

D. Social conditions / FTHTSE T

Q4. What will be the shape of supply curve for perishable goods like as
fruits and vegetable?

Fe5 T ATSHATAT ATHTLEAT ATMET TEQHTSAT [LAST ThTAT SR F ]

THA?

A. Horizontal to x axis / & &1 HHA

B. Vertical / ferfasteia

C. Left to right downward sloping / STETHEH ITaThe GTAT 3L
STTOTTLT

D. Right to left upwards sloping / IST&THgA ST aT T&d SATUM]

Q5. The law of variable proportion is new name given to old classical

concept Of -----------mmmumme- has played a vital role in the history of
economic thoughts.
FEAAT AT FaH7 g e T ST FATAAT Hhodd ol

ool AEF |19 &g SAT A st == sfagmma agador

T TSTAAT e,

A. The law of equi-marginal utility / FaE®ETT ITATHET 24

B. The law of returns to scale / sraT™ Jag F=w

C. The law of diminishing marginal utility / =recaT 9@ ITATRG=T
IERE:)

D. The law of demand / ¥Tof=T f9aw

Q6. When --------------—--—- , it is called as rational zone of production.

S | , ATATH IcqTaATH Taashelier & 378 Harere Srd.




A. Average Physical Products (APP) is greater than Marginal
Physical Products (MPP) / SXH<I Hifde Icaraeshal gf ||
AT ICATERATEAT SATer T,

B. Average Physical Products (APP) become zero / aXm&<t Wifds
STITEHAT &t T BId.

C. Average Physical Products (APP) is less than Marginal Physical
Products (MPP) / X< wifa® IcaTeshal af didid |ids
ScATEh AT EAT FHT 3T,

D. Marginal Physical Products (MPP) become zero / #iHid |ifd#®
JeaTashdT - 3.

Q7. Regional Rural Banks (RRBs) gives direct loan to ------------------
rural artisans and agricultural labours.

UICRI® UHIUN FHT (RRBs) &N ---emmmeemmmeee YT HRAMR 3Mfor
QAR AT Y& B Glld .

A. Only small farmers / lbdd EIRGER

B. Big farmers | A3 Db

C. Only marginal farmers / Bad HHHid AdH

D. Small and marginal farmers NREERICIGRIGERI

Q8. What are the weaknesses of money lending by money lenders?

TARTLRET HAACAT FHol1 3 Hol 1541 HHALAT HTT ATGA?

A. A rate of interest is very high which money lenders charge /
ATAHL G ATIF ATAIL ATHILATA

B. The burden of unproductive loan is increasing / SIcaTa® Fef=1
ST ATdT AL,

C. There was an obligations on borrower to sell their crops to the
creditor at unfavorable prices / TSt HUT-TTET ATHET 96 TTaga
e Y FoQTLTAT [SaTa= T STaTaarl ST,

D. All above / <t 79




Q9. Which of the following is not the objective of minimum wages?

Weiterifes HIId fpH da-Te Ifeted Tel?

A. Strengthen the labour unions / HTHIR HoeAd FBHCIHRU]

B. Maintain the efficiency of workers / STHIRIA! BRI fcha
3qul

C. Provide economic and social justice to the workers / STHITRIAT
3 SHfor QTSI = gor

D. Strengthen the entrepreneur unions / e dged
SBPHC D]

Q10. Which are not the equilibrating forces of market clearing model?
AT FAFAF AT ITAHTAT=AT FHI0TeAT Hierd Aehl ATeia?
A. Behavior of firm / SSTEEI=T IR

B. Behavior of workers / FTHRTTEI= AU

C. Behavior of capitalists /ATEa@a< = I
D. Behavior of wages / 95T



